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Section A

Questions 1 to 20 canry 2 marks each.
For each question, four options are given. One of them is the coﬁect answer.
Make your choice (1, 2, 3 or 4) and shade your answer-on the Optical Answer Sheet.

(40 marks)
1 72 thousands and 3 tens is the same as
(1) 723
(2) 7230
(3) 72 003 .
(4) 72 030
2 Which of the following is a factor of both 28 and 807
(1) 10
(2) 8
(3) 7
(4) 4
3 Write 4 L as a decimal.
20
(1) 472
(2) 4.7
(3) 4.35
4) 4.035
4 In the figure shown, ABCD is a square. Find 2x.
A B
(1) 65°
(2) 60°
(3) 55° ,
(4) 25° 00 Va
x
B C

0008/(A)



5 O
5.93"8

What is the missing number in the box?

(1) 45
2 67
@ 72
@ 77

111 1
8 Find thevalugof — —~—

12 3
5
(1) P
12
(2) 12
7
(3) 2
2.
4) 3

7 Which of the following is a common multiple of 7 and 9?

1) 16
(2) 35
(3) 54
(4) 63

0008/(A)
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8 Round 15.897 fo two decimal piaces.

(1)  15.90
2 15.98
3) 1599
(4)  16.00

9 Gideon had an a;}pointmént with his doctor but was 45 minutes late. He arrived at
the clinic at 12.05 p.m. What time was Gideon's appointment?
(1) 11.20 am.
(2) 11.20 p.m.
€)) 12.50 am.

{4) 12.80 p.m.

5
10 Jane gave Py of her stamps to Shirley. She had 285 stamps left. How many stamps

did Jane have at first?

(1 171
2 456
3) 475
4y 760

2008/(A).



11 Dr Ratna’s Clinic opens only on weekdays for the timings shown in the table

below: Opening hours

Mondays to Fridays 8am. —12 p.m.
' 1 p.m. —-3.30 p.m.
6p.m.— 9 p.m.

How long is the clinic open daily?

(1) 7 h 30 min
(2) 8 h 30 min
(3) 9 h 30 min

(4) 10 h 30 min

12 The table below shows the price of meals sold at a fast-food restaurant.

Fish Burger Meal Chick;r;surger
Regular $6.85 $6.50
Upsized | $7.85 $7.50
Apple Pie $2.10

Peter ordered a regular fish burger meal, an upsized chicken burger meal and two
apple pies for his lunch. How much did he pay altogether?

(1)  $16.45
2)  $17.55
3)  $18.55
4)  $19.55

0008/(A)



13 The area of the square ABCD is 100 cm?. The area of square APQR s 16 cm?.
Find the length of RD.

A P B
R—a
?;
Cc

(B 21 cm
(2) 14 em
(3) 6 cm
4) 4cm

14 The bar graph shows the mass of four pupils.
60

50

Mass in kg
S 8 8

Alan Ben Candy Dinah
Pupils

Find the difference in mass between the lightest pupil and ths heaviest pupil.

(1)  20kg
(2). 25kg
(3) 30kg
(4) 80 kg

0008/(A)
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15 .Jane is at Point E and facing North-west. If she makes a ~ - turn anti-clockwise,

4
she will face Point C |
B
N
A
e I
D
A
)y A
2) B
(3) C
{4) D

16 There are 2380 members in the Art Club. There were 168 more girls than boys in
Art Club. How many girls are there in the Art Club?

(1) 1108
2) 1274
3) 1358
4 2212

17  Michael and Vincent saved a total of $420. After giving $15 to Vincent, Michael had
three times as much money as Vincent. How much more money did Michael have
than Vincent at first?

(1) $105
@ $210
@  s225

(4)  $240

0008/(A)



Use the information below to answer Quastion 18 and 9.

The bar graph below shows the number of children in each family in a particular block of
condominium. There were 28 families in total with at least two children.

Number of families

1 2 -3
Number of children in each family

18  How many families have one child?

(1 8
2 9

(3) 18
@ 18

1©  How many children are there in total?

37

(1)

(2) 48
(3) 719
(4) 80

0008/(A)




20  Apples are sold 8 in a bag and oranges are sold 12 in a bag. Meili wants to buy the
. same number of apples and oranges for her party. What is the least total number of
bags of apples and oranges if she needs to buy more than 40 fruits?

(1) 5
20 10
(3) 15
4) 20

0008/(A)



Seciion B Do not write
] in this space

Questions 21 to 40 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (40 marks)

21 Round 54 620 to the nearest hundred.

22 What is the remainderwhen 1214 is divided by 77

23 Write the missing number in the number patiern below.

13000 , 12300 , 11600 , 10900 , , 8500

24 Express 0.2 as a fraction.

0008/(B)
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1
25 Which two of the fractions below are smaller th_an 5?

5 5
1071

] w
e IE -8

H

Do not write
in this space

Ans : and
° 5 3_
28 What is the value of st 2’
Express your answer as a mixed number.

Ans :

27 Write the decimal represented by A.
0.3 I 0.4
A

Ans :
28 Find the value 6i8.36 x 6.

Ans:

0008/(B)

(Go on to the next page)
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28 Measure and write down the size of 2x.

Ans :

Do not write
in this spaca

30 6088x7=

Ans:

31 A big box contains fwice as many chocolates as a small box. There is a total of 60
chocolates in three small boxes and one big box. How many chocolates does the
big box sontain?

Ans:

0008/(B)
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32 Thefigure below shows a rectangle ABCD and a square PQCR. Find the perimeter | Do not write
of the shaded part. ' in this space |

20cm

Ans: cm

33 Complete the symmetric figure below with XY as the line of symmetry. |
‘ X

R
LY

(Go oh to the next page)

0008/(B)
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34 In the grid below, draw and labsl the sguafe ABCD. Do not write
Lines AB and AD have been drawn for you. i this space

E . T T v 1
. i - i N
. l i ! { ;
. ‘ i : : .
! H i ;
| { H :
k : ; ‘
< i 7
N ' H
H i : H
] : i i
H H : H
' H H H
t : H 1
i : H !
L ; H : i
h T : T ?
1 : i i
: H H :
N H . ‘ HN
i H : ' H
. i B : :
; ; R ; H
! i i
@ ; . ) ; :
: | i : i :
i : H + 3 B
B . b B N
i : : ; : i
; i : i :
. : H .
¢ : H : i
i T T i
i : : : t
s i - : t
i : H t
! : : :
! : : H
T T H
! i ! ! 1 K
. H ! :
! i :
: ! : :
i H

35 Apenis 8.18 cm long and a ruleris 3.47 cm longer than the pen. A glue stick is
5.26 cm shorter than the ruler. What is the length of the glue stick?

Ans : cm

38 Hugh has three times as much money as Susanna.
After Susanna gives $20 to Hugh, Hugh has $110 more than Susanna.
How much does Susanna have in the end?

Ans:$

0008/(B)
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Use the information below to answer Question 37, 38 and 39.

A rectangular tank was partly filled with water. A tap was then tumed on for 30
minutes to fill the tank completely. The line graph shows the volume of water in

the tank at regular intervals of time.

200 —

-
fey)
[

120

o)
<

Volume of water (litres)

e
&

Do not write
in this space

10 20 30
Time (min)

40

37 What was the volume of water in the tank at the beginning?

50

Ans: £

38 What was the capacity of the rectangular tank?
Ans: R

39 How iong did it take to fill the tank completely?
Ans: min

0008/(B)

(Go on to the next page)
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40 in the grid below, draw a line parallel to line AB passing through point M. Do not write
in this spacs
T | ]
% ; !
g i
i !
; |
: M
| * ‘
| i
A x: o \ H
B T
i ! . i
|
i
| \\
B

0008/(B)



Section ©

For questions 41 to 45, show your working clearly and write your answers in the space
provided. The number of marks available is shown in the brackets [ ] at the énd of the | po not write

guestion or part-question. (20 marks) | in this space

3 2
41 Tammy had 1 [ of lemonade. She drank P tofit and gave her brother—S- A

How much lemonade did Tammy have left?

Ans: [3]

42 Xiu Lan's weekly allowance was $13.50 and De Ming's weekly allowance was
$24 De Ming saved $3.75 and spent the rest. Xiu Lan spent all her money. How
much more money did De Ming spend than Xiu Lan?

Ans: [3]

(Go on to the next page)

0008/(C)
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43 The figure below is made up of two 4-sided figures, ABCD and EFGH drawn on

a square grid.

1 umit
L
1 uniti A
B B
E C F
H G

Each of the statements below is either true, false or not possible to tell from the
information given. For each statement, putatick ( v ) to indicate your answer.

Mot
Properlies True False | possibieto .
tell
(a) ABCD is a square.

(b)| ThelengthofEF is 12 cm.

© The area of ABCD is greater
than the arsa of EFGH.

(31

Do not write
in this space

24508/(C)
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19

fifty-cent coin

twenty-cent coin

Mass = 6g

Mass = 4g

Bala has nine coins made up of 20 cents and 50 cents. The total mass of the

coins is 42 g. What is the total value of the nine coins?

Ans:

Do not write
in this space

[4]

0008/(C)

(Go on to the next page)
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45  Figure 1 shows a rectangular sheet of paper. It is then foided on one side as | Do not write
shown in Figure 2. The area of the shaded part is 27 cm?..What is the area of the | In this space
rectangular sheset of paper?

Figure 1

Ans: [3]

0083/C)
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21

Mrs Gomez pinned a big piece of paper onto the class notice board using some
pins. Pins were placed at an equal distance around the notice board as shown
in the diagram below. The distance between every two pins was 10 cm. Pins
were placed at the four comers of the notice board. How many pins were used

altogether?

g ? ‘ . ?A

Do not write
in this space

P
10 cm
60 cm
- - v
280 cm
Ans: [4]
End of paper

00688/(C)
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Q34

Q35

4.18 + 3.47 =12.65
12.65—5.26 = 7.3%m

Q36

110-20-20=70
70+2=35
35-20=15

Q37
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30min
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Q42

$24 - $3.75 = 520.25
$20.25 - $13.58 = $6.75

- Q43

ajTrue
b}Not possible to tell
c)False

Qa4

50¢

20¢

Total

Mo.

| Miass

Mass

Mass

5
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16
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42

3 x50¢ =51.50
6x20¢=951.20
$1.50 + $1.20=%2.70

Q45

9x3=27cm’
9x5=45
27 +9=3
5+3+3=11
11 x 9 = 99cm”

Q46

280 + 10=238




60+-10=6
28x2 =56
6x2=12

56+ 12 = 68
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